Cuapree IV = 20 Keview @

I. Solve For X BY GOMPLETING ThHE SauaRE,

P
X“-2%x -l =0
2. (omPlLeTE THE SQUARE BY FINDING Tdg LAST TerM,
., 2
X = 3% ¥ —

3. FinD Tz RooTS USING TReE QUADRATIC EQUATION wweN
Necessary.

20%% + Yox =320

: e
4. Tew THE NATURE OF Ak SoLuTioN USING YDISCRIMINANT,

THE SOLVE —To ®wd The EXACT TRoaT.
"z
FxF-2x =20

. A wep CAR SOLD FoR $6G0 . THe DeAateR Mape A Tro®' T
oF \B% . WHAT WAS The ORIGINAL cost ?

(,. THe Price O6F Tue Foon AT THE RESSTALRANT CAME
To #99.90 - |F THe TAX WAS 5.4U°, ofF TTHAT AMOUNT

AND Tue TP WAS %% whaT WAaS THe TOTAC AMOONT
Seent’?

3. x= Y. | solve fori, e and
W+ L Solve Cov \/

& A CLASS RAD U2 STUDEATS , BoYS OUTNOMBERED GIRLSD 9t 5
How tasy PONS  weRre fresenat ?




A, 95 Kilometers®= e @

0. 580 dec'\ﬁm\m$: ki

[Q. Two YanS were scheduled betrween Loncaster and

Pwladelpha. One *rain averaged 46 mph and the
o Her O.\Jevajf’d 25 mph . TThe second W a i took

oM hours lonacr do make the vun. Hous far 15 W

be 3rwee i Sx—ox-\*\ ons.

Men S\owed
>0 mp\’\

(3. Set\n beﬁan the 500 mile race ak \20 mi/hour ,

o WO W\P\ﬂ- £ e dvove 2 hmes as \O\na at
a\y each m*e.?

U, Rwup THe SLOPE, (NTercept e ke born Lrms of e

€¢bua\ﬂov\ ané Sras?\n e \wne .

a (3 -L) 3 (0O, o)

b. Sope -5 iv\/\\rous\/\ Yhe T\)ow\-\c (_2, (0>




